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April 7 MPM2D Park
(\' Umt 4. Exponents
Reviewing Exponent Laws
o AXA= A Kfﬁa\/lultiplication Law)
o (A" )n= A" (Power Law)
( A) A (Power of Quotient Law)
° IfaﬂfO,a = —é—L—; angd ’__ Q ( negative Exponeat me’@“fﬁ
e AT A= V (D1V1510n Law)

or inder e (AB)"= A"B"(Power of a Product Law)
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P Ifa+0, A =1 (Zero Exponent Property)
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Exponent Rules Review

1. Write as a single power, then evaluate.

a. 3% x 3%
b. (—2)*(—2)
c. (BY*(5)3

d. (3.2)%(3.2)°

e. (07?F

£, @ =@)P

g. (20

h. (-4.5)° +{—45)
ol

i. 3%

. C7E

k. —(1.2)?

| (-0.8)*

L]

2. Multiply.
a. [Ba)(—2z%)

b. {—2r?)(8s)
c. —4c(ade)

P

e. (—3abmZbm)

f. —u(Gur®)
g. 2a*b*c)(-3bc3d)
h. —3rist x 2rstd

i, Gxv)(-32)

j. —2d3d)(3e)

k. ifkgmnzﬁi‘%?ﬂﬁ}{f?,,?:;zg}
— Oy 2H +] Ity
=2k " en

—
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6. Simplify.

2xy X 3xy = 61"“ \/_\‘r\ - éxl \/Z

3. Simplify.
a. GBty)?
b, (—2xz)®
c. (-2a3b)®
d. (3r%s)*
e. (3kFm?®)*
f. (-3g°r%)?
4. Simplify.
a. (2)*032)
b. (—2ab}-ab)*
c. (B5**)*(—st)
d. (—4i*m®**2km)*
e. (@ris*f)(3rsi)®
£ (@abo)*(2a%be)(ab®c?)
g MmnFp*y¥(mnp)i(—3nm3p®)
5. Simplify.
a. @a*h®)= @D
60313
c. Bxfy%)= (-4
d. (—4w®x%) = (—2u3x%)
—-g f 2 gSh?
e. 6fgh
~1a2c2ds
f. lsc
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a. 3kms

b. #a3bic+2be

Answers:
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(-2)1% = 1024

. (—45)* = 20.25

=9
-7y=-7
-12% =144
0.6° =036

-6az®
—16r3z
—20cde
6x3y=
—6abim*=
—5uies
-6a*h*c¥d
—-10y8g8¢8
—-50xwe
—18d%e
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$18 gl A bt Cc=0 (shela) 057, b7, c=r
S EBISEDE:
a[x +(5+m)) [+ (5-®)=0 = whe(ie 3
Two 1/ Wepty = —(5+3) = -5 -J3

—(5-73) = -5 403

=0 Wt equitinn

QA [m + ('SH—)] [i+(§_r)] - g

XX [ 2 +ﬁ1[2 _B‘j =

'% Sub DL~-3 9

o [4-3]=
o1 =%
=8
5 ['i+(§+)"> hjL(g—J—g)]:

::8 [7(-%51\ r/ﬁ.{/@‘('lb "’/5<r’9/+r/7<'£+‘53-5]:o
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— gL SoAHTL =D

L a=%8, b=go, c=174



